| Twk Yy 3FJPE ERON’ NBK®

| FOOT JACKS TYPEFJP  NO.E-9666

RELE

No. RIFwk =2 Nk
FJP-P  |SS400-1=70XwF | RUP RS CR
FJP-SP  SUS304 RU7 = MRS CR
FJP-B  |SS400-2=70xw#+ | RUFPZRRERE | BAIRSL—b

OFKERSSPIA L E EEICTL/ VY RAHTNTVETD,
OXKEELSBYAT1F. No.E-9698BAiR L —hDIEE I A
TISHHFTHIET,

—
=
|
B

X
A A 7_3
( ) o A
L
IS
w |
3
pv4
bJ
ol€]
D aw e Qi ES * {EREIRY TS
i : : : : : : : : : : e EE SR
Z—5—No. No. AltH) : B : C : D : E : F : G :H I :J Ko : PP S——
° © E=) BKN kg | 1~o@ 10

6 0.21| 950 670
6 0.19| 1,050 740
6 0.34| 1,140 800
10 0.57| 1,480 1,040
10 0.67| 1,550 @ 1,090

* 950931 | FJP12120P | M12X1.75:120:132° 7 12 20 60 : 19 : 10 : 53
% 950933 | FJP16080P | M16X2 80: 95: 10 15:20:60 : 24 :13:53
% 950935 | FJP16120P | M16X2 120:135. 10 - 15 .20 . 60 : 24 : 13 . 53
% 950937 | FJP20100P | M20x2.5 :100:122: 12 . 22 - 25 80 :30: 16 . 73
* 950938 | FJP20150P | M20x2.5 :150:172: 12 22 25 80 :30: 16 73
* 950944 | FJP12120SP | M12X1.75:120:132: 7 - 12 : 20 1 60 : 19 : 10 : 53 6 0.21| 1,360 950
4950950 | FJP20100SP | M20x2.5 100 122 12 22 25 80 30 16 73 10.0.0.57| 2,160 = 1,510
* 950951 | FJP20150SP | M\20%x2.5 :150:172: 12 - 22 25 :80:30:16 .73 . 3 10 :0.67| 2,550 : 1,790
* 958029 | FJP12075B | M12x1.75: 75: 87 7 12 34 60 :19 10 53 14 1 0.2 | 3,090 @ 2,160
% 958030 | FJP16080B | M16X2 80: 95:10 : 15 34 60 i 24 13 :53 14 1 0.25| 3,230 ' 2,260
% 958031 | FJP20100B | M20x2.5 100 122 12 22 39 80 30 16 73 14  1.80.6 | 3,750 2,620

WiWwww ww

SINCE 1560

NABEYA co.uo. CADF—99 50—k « EHEREE Web U/ rT ! [ AT \ “* 1023

FriendsNo.219/2022. 1 13{ER




